Rang Nr.
1. 21
2. 20
3. 19
4. 12
5. 6
6. 15
7. 22
8. 11
9. 18

10. 7
11. 14
12. 9
13. 3
14. 17
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17. 2
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Paarturnier - Luzern - 03.02.2025

Ergebnis (50 % =260.0 MP)

Paar
Bilar, Pedro — Killstrom, Curt
Stalder, André — Bendel, Beatrice
Wiist, Annamarie — Winter, Vreni
Wigdorovits, Jutta — van Exel, Wendela
Vock, Ute — Beylemans, Rita
Gisler, Meggi — Kuhn, Monica
Zoller, Marion — Hedinger, Teresa
Walter, Marlise — Biitler, Doris
Wilti, Vreni — Kleinschmidt, Michael
Steger, Johanna — Oezvegyi, Ruth
Wohlgemuth, Gisela — Egli-Kessler, Ursula
Fischer, Verena — Paulon, Marianne
Schoahs, Grazyna — Schonenberger, Nada
Roth, Rita — Furrer, Ursula
Rubeli, Gabriela — Guter, Werner
Wehrli-Wyss, Cristine — Nadrai, Marie-Antoinette
Schir, Rita — Heuri, Silvia
Vital, Theres — Schilt, Carla
Bernhardtz, Claes-Goran — Egli, Willi
Briner, Maya — Griidel, Heidy
Wiist, Albert — Biitler, Adelbert
Hirt, Sybilla — von Weissenfluh, Eva

Turnierleitung: Marion
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+ DB43 s 105
v 10985 v DB43
" 86 W24 |, Ap1os2
D103 & 52
& AK72 &4 vaSA
v A2 N42-33
+ B743 $42-33
N/S3SA= 4 B64 wo____
26 + AD3
Ost/ alle v 7542
+ A98743
-
» B9742 s K108
v A9 v B106
+ 102 iiEEj!oB
» 8742 & AKB653
4 65 a4 vasSA
v KD83 N-44-2
OW4aX-2 ¢ KDE5 5 44-2
O/W 54 X-2 & D109 W3-_2 -

MP
10.0
10.0
17.0

2.0
17.0

6.0

2.0
17.0
10.0

2.0
17.0

MP
18.0
5.0
13.0
10.0
0.0
8.0
18.0
13.0
2.0
18.0
5.0

mP
0.0
18.0

NS Kontrakt
6 N 3% =
1 N 2v =
15 N 3% +1
16 s 2v -1
3 N 3% +1
18 0 3¢ -1
8 N 5# -1
12 N 3% +1
21 N 2v =
22 N 4% -1
4 N 3% +1
NS Kontrakt
7 S 35A +1
14 S 44 -1
1 N 38Aa =
16 S 2SA +1
4 S 44 -3
3 N 24 +1
19 s 3sA +1
20 S 3sA =
12 S 34 -2
22 S 3sSA +1
§ N 2sA -1

NS Kontrakt
8 0 4% =

14 N 4y =

2 0 2% +1

9 N 3¢ +1

5 N 3¢ =

18 N 3¢ +1

19 0 5% X -3

20 N 3¢ +1

13 s 3¢ +1

22 N 5¢ -1

6 N 4¢ =

Aussp.
4D
B
*4
&5
a2
410

49

Aussp.

8
45
v10
48
v3

v10

Ergebnis ~ OW
110 9
110 14
130 13
50 7
130 17
100 2
50 19
130 20
110 11
50 10
130 5
Ergebnis ~ OW
430 10
50 2
400 15
150 8
150 17
110 18
430 9
400 13
100 21
430 11
50 6
Ergebnis ~ OW
130 11
620 3
110 15
130 16
110 17
130 4
800 10
130 1
130 21
100 12
130 7

MP
10.0
10.0

3.0
18.0

3.0
14.0
18.0

3.0
10.0
18.0

3.0

MP
2.0
15.0
7.0
10.0
20.0
12.0
2.0
7.0
18.0
2.0
15.0

20.0
2.0
18.0
8.0
14.0
8.0
0.0
8.0
8.0
16.0
8.0
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